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BENEFIT CONSULTANTS

Example of 2014 Dental Insurance Census

\ | legend :
1 45 A 02050 F F 1 s Single Coverage i
1 78 WA 02050 E i F [Family Coverage }
1 & WA 02050 3 ! M [Senior Medical Coverage !
2 26 WA 02116 F F 1 1 W |valid Waiver !
2 i WA 02116 2 N 0 J
3 01/011979 MA 02169 5 3 1
n 30 WA 02110 F 3 1
n 35 WA 02110 2
n 20 WA 02110 3
n 18 WA 02110 3
I 15 WA 02110 3
5 50 WA 02110 5 3 1
B 73 WA 02110 5 3 1
i 18 WA 02110 F F 1
7 21 WA 02110 3
B 11 WA 02110 5 3 1
3 01011970 WA 02110 F F 1
y 01/01/1999 WA 02110 E
10 01/01/1970 WA 02110 3 3 1
11 86 WA 02110 M 3 1
12 86 MA 02110 5 3 1
13 15 WA [02050 M F 1
3 28 WA 02050 2
3 § WA 02050 3
4 26 WA 02116 F F 1
4 26 A 02116 2
(B 01/011979 A 02169 W 1
Mg 50 WA 02110 1

Sequence Column:
e The first column on the excel spreadsheet needs to be filled in with sequence numbers.
e  Sequence should be as follows:
= Value 1 for the subscriber (employee) listed on census
= Value 1 for dependents and spouse (if any) listed under the same subscriber (employee)
= Value 2 for the next subscriber (employee) listed on census
= Value 2 for dependents and spouse (if any) listed under the same subscriber (employee)
= Etc.
Birthdate Column:
e  The birthdates should be in the format mm/dd/yyyy
Medical Column:
e Use on of the following based on the coverage in the Medical Column
= S:Single Coverage
= F: Family Coverage
= M: Senior Medical Coverage
= W: Valid Waiver (use when eligible employee has coverage elsewhere)
= |: Invalid Waiver (use when coverage doesn’t exist)
The Relationship Column:
e Place a 1-3 in the Relationship Column
= 1 for Self
= 2 for Spouse
= 3 for Child



